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private long inputPrice() {
String price = "";
do {
System.out.printin("7& =S L=HH FHL.");
price = SCANNER. nextLlne()
} while (!Validator.isNaturalNumber(price));
return Long.parselLong(price.trim());

}
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private static long getPrice() {
try {
System.out.println("3¢ ZUS L FM.");
return Long.parseLong(SCANNER.nextLine());
} catch (IllegalArgumentException e) {
return getPrice();
5
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public class Money {
private static final int MONEY_PER LOTTO = 1 _000;

private final int money;

public Money(int money) A{
if (money < MONEY_PER_LOTTO) {
throw new IllegalArgumentException
("2E AUZUZ 10003 O[&O|0{OF BfLIC.");
s

this.money = money;
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class LottoNumber {
private final int no;

LottoNumber(int no) {

if (no <1 || no > 45) {
throw new IllegalArgumentException();
s

this.no = no;
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public class Lotto {
private static final int LOTTO_SIZE = 6;

private final Set<LottoNumber> lotto;

private Lotto(Set<LottoNumber> lotto) {
if (lotto.size() !'= LOTTO_SIZE) {
throw new IllegalArgumentException
("2EEE= 6712 M2 CrE =XIE Y=o gfL(CH ") ;

}

this. lotto = lotto;




public class LottoResult {
private Map<Rank, Integer> result = new HashMap<>();

public LottoResult() {
for (Rank rank : Rank.values()) {
result.put(rank, 0);
I3

}

public void putRank(Rank rank) {
result.put(rank, result.get(rank) + 1);
}
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public class WinninglLotto {
private final Lotto lotto;
private final int bonusNo;

public WinningLotto(Lotto lotto, int bonusNo) {
this. lotto = lotto;
this.bonusNo = bonusNo;

}

public Rank match(Lotto userLotto) {
int countOfMatch =
userLotto.countOfMatch(lotto);
boolean matchBonus =
userLotto.isContains (bonusNo):
return Rank.valueOf(countOfMatch, matchBonus);




public class Lotto {
[...]

int countOfMatch(Lotto lotto) {
int countOfMatch = 0;
for (Integer number : numbers) A
countOfMatch +=
getMatchingCount(lotto, number);
s

return countOfMatch;

}

private int getMatchingCount (
Lotto lotto, Integer number) A{
if (lotto.isContains(number)) {
return 1;
I3

return 0;

boolean isContains(int bonusNo) {
return numbers.contains(bonusNo);
}
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public enum Rank {
FIRST(6, 2 000 000 000), // 15
SECOND(5, 30 000 _000), // 25
THIRD(5, 1 500 000), // 35
FOURTH(4, 50 000), // 45
FIFTH(3, 5 000), // 55
MISS(0, 0);

private int countOfMatch;
private int winningMoney;

private Rank(int countOfMatch, int winningMoney)
this.countOfMatch = countOfMatch;
this.winningMoney = winningMoney;

}

public long prize(int countOfMatchLotto) {
return countOfMatchLotto * winningMoney;
¥

[...]




